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ACADEMIC YEAR : 2022-23
GRADE : X
SUBJECT : ENGLISH
ASSIGNMENT -28 “The Necklace”

Q1. What was the cause of Matilda’s ruin? How could she have avoided it?
Q2. What would have happened to Matilda if she had confessed to her friend that she had lost her necklace?
Q3. One evening her husband returned elated bearing in his hand a large envelope. ‘Here’, he said, “here is something for you.”
(a) Why was the husband elated?
(b) What was the reaction from ‘you’?
(c) Find the word from the extract that means the same as ‘wrapper’.
(d) What is the antonym of ‘elated’?
Q4. What excuse did Loisels put up to explain the delay in returning the necklace?
Q5. What do you think of M Loisel as a husband? Cite instances from the text to support your answer.
Q6. How did the Loisels react when they realised that the necklace had been lost?
Q7. What had Matilda’s husband saved the money for? Why did he then part with his savings?
Q8. What changes came into the life of Loisels after the necklace was lost?
Q9. On inability to accept our circumstances may lead to an unhappy life. Explain with reference to the story “The Necklace”.
Q10. Matilda would not have suffered much if she had confessed the loss of necklace. Do you think our mistakes become more serious if we try to cover them?
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